Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING- SEMESTER -4 (NEW) EXAMINATION - WINTER-2020

Subject Code:3341105 Date:25-02-2021
Subject Name: Industrial Electronics
Time: 02:30 PM TO 04:30 PM Total Marks: 56

Instructions:
1.  Attempt any FOUR Questions from Q.1 toQ.5.
Make Suitable assumptions wherever necessary.
Figures to the right indicate full marks.
Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.
English version is authentic.
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Answer any seven out of ten. €22l SlEURL Ulcletl ellol WML, 14
Give at least four applications of polyphase rectifiers.
WeAll32 2SR ol AR GUAN AVl

Give differences of working of SCR in DC & AC power supply.
A AR ALwal SLll ueR wvcanl 3l waoL Aa sid 52 8

ad UMl

What is UPS ?State its types.

Yl AU. Aed 9 2qell UsIR Ul

Find out time Ton for one stage of IC555 timer if R=1 MQ & C=4700uF
Al uuU A5 R 2lFHR HIZ2 %L R = 1 MQ Wl C=4700 pF

sl Al Ton MWL

Draw circuit diagram of 1-@ SCR static switch.

1-g A AR, R3S [l €.

List applications of PLC.

LA ot Gualol cul.

What is cycloconverter ? Give its types.

ARASEAL octe WA g ? Aol YsIR welual,

How power is controlled with the help of SCR ?

AR ol UL s3lal ulaR (A2t 3l A 53 asta ?
Draw any one circuit diagram of relay using opto transistor.

AL 2iofleR oll BURLAL $3la olalldd As A URFUU €L
Give applications of stepper motor.
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What is commutation of SCR? Explain class-F commutation.
AUALAR of sLJ220l AeAYY ? AR W 511220t AU,

OR
Narrate different applications of SCR.

AAA{LAR ot QA Guaadl avlal.
Explain DIAC.
stauLs AHtCl.

OR
What are benefits of opto-isolator ?

Vel WSUARR oll slAEL U,
Explain IGBT.
.29, 6{l. 3l urost Al

OR
Explain class-E commutation for SCR.

AUALAUR ol GuUAdl 3ol wolldd SAR-ES sl2alel URua

AHestall.
Explain timer using transistor.
2loflzeR oll GuAL 53l KollAE 2LEFHR U U UHLAl,

OR
Explain timer using SCR.

AU AL AR oll GUAL 53l GlollAE 2SHR UlRUs M

Explain a static switch using four diodes & one SCR.

AR SRLS A Ag AJAULAR ol GUAdL s3la oloildd R3S <1

E1RL Aol MLl

OR
Explain 1-@ Full Wave bridge controlled rectifier using four diodes & one
SCR.

AR SLAS U A5 AALAUR. ol GUAL 531 clotldet gt Ad

ofloy Soples 2SELSLA AHSLA.

Explain photo relay circuit using photocell in which relay operates when
light beam is interrupted.

g2l A AUl colldd $12l A URUU UHAA ¥ BHL AR

AlgSe ol wcRUA B AR A ue Ll

OR
Explain solid state relay using opto-triac.

AL 2lals AUl oletldd Aclls @edlA uBua AHestal.
What is Chopper ? What are its applications ?
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Explain 3-@ half wave uncontrolled rectifier.

3-0 8l% A Aol $216s s3LSL2AR AHesLAl.
Explain any one type of cycloconverter.
SlESURL AS YUSIR of ALRASAL Socle? UMl

OR
Give benefits of polyphase rectifier.

Qell¥os 2s8Ls121R oll SRLERA AW

Explain induction heating.
552t lElol UHA A

OR
Enlist applications dielectric heating.

siSAsdls SlElotett G0N LUl
Draw and explain three stage 1C555 timer circuit.
QL @ WS AL UUY 2leFHR €11 wal ULl

OR
Enlist applications of induction heating.

555 52lot SL21oL oll GUAN sBULA.

Draw and explain parallel inverter circuit using one SCR two feedback diodes
& a capaciotor.

As AU ALAR., A fls As stalls wa $UAeR AUl oetldcdt
WEHA Socle? €13 Wal AHLA.
Explain synchros.

A5l AH A
Draw & explain solid state circuit to control dc shunt motor speed.

Sl 2ie HWeR ol Aclls =2 A zists uRuUs €1 A U,

Explain DC Servo Motor.

LAl ual Aer unxesAl

With the help of circuit diagram explain class — C chopper.
sAAlR-A{L AWUR oll URUA Rl A AU
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